(1)

o t=+Fokk 57k RIEAEZLEL X O,

A3 .5 6 .1
4 6 5 5
3 .7 A o
2 10 4 4
0 P A3 U
4 6 4 2
KB Kk HEALELL S,
1.2 S .9
5 5 4 10
Al . 2 A
3 3 6 2
A3 .5 S 10
37 6 312

39/10,6,15/7,9,33/2,13/2,  7/2,25/18,11/2,7/3,26/5,20/11



(3)

ot +Hokk 0k RIEAEZLEL X O,

10 . 1 5 .3
3 3 2 4
A3 L1 o, 1
6 = 3 "3
9 .1 4 1
2 2 33
AR ENE Nk HEHZLELLS.

7.2 74
3 3 5 5

9 .1 SR
4 2 4 2

7 . 3 N O
2 4 2 8

10,10/3,13/2,10/3,9,14, 7/2,7/4,9/2,5/2,14/3,12



(5) WO -EIER NNk RIEAEZLEL X O,

A3 .3 A1
4 7 4 10 = 2
5 0.2 7.1
3 7 3 5 5
3 .1 _7 .10
2 4 2 12

7 HEAZLELED
S5 .1 A1
2 7 2 4 " 4
7 .. 5 A3 .5
2 6 3 6
9 . 1 > L 1
2 4 3 3

13/3,11/5,5/2,7,6,42/11, 5,11,21/5,26/5,18.,5



(1 RO -Eok NNk RIEAEZLEL X O,

8 .5 7 .3
3 9 2 4
5 .. 3 A o
2 4 3712
5 5 312
8) BN KL HEHZLELLS.
7.2 A
3 3 3 3
7 .3 8 .1
2 8 5 5
Al . 3 As L b
6 4 4 " 4

24/5,14/3,10/3,28,14/3,20, 7/2,7,28/3,8,22/9,15



